Alg 2B Chapter 8 Review  Fall 2017
Round to the nearest hundredth unless noted otherwise or the situation dictates so.
lNo Calculator Part

1. Match each equation with it’s graph.
a) y=3* b)) y=4(0.5 c)y=63) d)y=40.15* e)y=7*
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2. Tell if each exponential equation represents growth or decay.
a) y = 800(1.0047)* b) y=2(0.9932)* «¢)y= 133(—%—3—)-‘ d) y=0. 15(—3%)-"

3. Write each in logarithmic form.
a) S3=x Db)x"=72 ¢)4*=100 d)e=x e) 10*=211

4. Write each in exponential form.
a) logsx=20 b) logd78 =x ¢) Inx=50 d) log.8 =3

- 5. Evaluate each. Round decimal answers to the nearest thousandth.
a) 10g100,000 b)Inl c) logs7 d) logs125  e) logssb
f) logs64 g) logs(5) A

Calculator will be allowed on this pari

6. Use the given exponential equation to find the % change and state if it's an increase or a decease.
a) y = 25,000(1.003)* b) y = 175(0.802)* «

7. Take the given % change and write the base that would be used in an .exponential equation.
a) 23% decrease b) 1.09% increase c) 0.67% decrease d) 58% increase

8. The value of a rare painting has been increasing 13% each year.
In 2005 the painting was worth $35,000.

a) Find the value of the painting in 1990.

b) Find the value of the painting in 2011.

c) In how many years will the painting be worth $1,000,0007?

9. The population of a city in 1978 was 900,000 and has been decreasing 5.9% each year.
a) Find the population in 1975.

b) Find the popution in 1999.

c) In how many years will the population reach 100,000?

10. Use all three properties of logs to write each as a single log and for part (c) then evaluate.
a) 3loga 7 + logX — +logaM b) 3logC - 2(logD + +logE)
c) 4loge3 + 2l0gs8 — 2loge12



11. Use all three properties of logarithms to expand each as much as possible.

K

a) lo b) In(4CH* c) lo kS

) tog( 35 ) ) In(4C?) ) tog | 4K

Solve each equation. Round decimal answers to the nearest thousandth.
12. 5= =42 13. 4(6)°° = 194 14. log 40 =2

15. log, X +log,(X—24) = 4 16. log,(x+7)? =3

17. logX —log(X—6) =3 18. log,6 + 2log, X =2
19. 5¢* -9 =20 20. 2lnx+1 =38

21. nx+1)=5+In(x-2)

23. Usethese formulas: I=prt y =P+ )" y = Pe’t

You invest $8000 in an account that pays 3% annual interest. Find the amount of money in the account
at the end of 25 years if interest is calculated the following ways:

a) Simple Interest b) Compounded quarterly.

c) Compounded annually. d) Compounded continuously

- 24. The half-life of a radioactive substance is 45 minutes. There is 800 grams of thié substance at 10:00
am. Find the amount remaing at 2:20pm the same day.

23. The number of cells doubles every 18 minutes. There are 25 cells at 1:00pm. Find the number of
cells at 3:45pm the same day.

- Alg 2B Chapter 8 Review  Fall 2017 |ANSWERS
1.a) E by A ¢) C d B e)D
2. a) Growth b) Decay c) Growth d) Decay
3. a)logsx=3 b) log:72=7 ¢) logsl00=x d) Inx=5 e) log2ll =x
4. a) 3% =x b) 100=478 ¢c)el=x d)x*=
5a)5 b0 ¢c)1 d3 e+ fH2 g 2
6
7
8
9

. a) 0.3% increase b) 19.8% decrease

.a)b=077 b) b=10109 <¢) b=0.9933 d) b=1.58

. EQ: y=35,000(1.13)* a) $5596.18 b) $72,868.31 c) 27.43 yrs
. EQ: y =900,000(.941)* a) 1,080,124 b) 250,971 <c) 36.13 yrs

10. a) log(W3X> b)!og( /T ) c) 10ge36 = 2

JM D*{E?
11. a) log5 + logE — 4logQ b) 4(In4 + 3InC) or 4In4 + 12InC
c) +logK —3logN - - logR :
12. x = 1.161 13. x =5.166 14. x = 6.325 16. x =27
16. x = -15,1 17. x = 6.006 18. x=1.633 19. x=0.879
20. x =33.115 21. x=2.020
23. a) $14,000 b) $16,888.67 c) $16,750.22 d) $16,936.00
24. 14.58 grams 25. 14,368 cells



